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AT AS2A- (General Instruction)
> gt gUrEHT 39 et H IR Sl

(Examinee write answer in their own words as far as practicable.)

> Pl usl Hr FEam 19 B
(The total number of questions is 19)

> U HEAT 1 ¥ UH HEAT 7 dd Aol uH ¥ s @ fhelr arer ust & 3R
QST s uy &1 71T 2 3w AU R
(Question number 1 to Question number 7 are very short answer type questions.
Answer any five of these questions. Each question carries 2 marks.)

> UH HEAT 8 ¥ UH HEAT 14 d YT UH E| 5 A fheel 5wt &b 3R
QAT vAF uH & A7 3 3w AR &

(Question number 8 to Question number 14 are short answer type questions. Answer
any five of these questions . Each question carries 3 marks.)

> UH TEAT 15 T U T&IT 19 dob Susadd Uy &1 38 & el i usff & 3R
AT U uH &1 AT 5 3 UG §)

(Question number 15 to Question number 19 are long answer type questions. Answer
any Three of these questions . Each question carries 5 marks.)

Sec-A
Q1. x-3aT W g% g wra Hifaw & (2, —5) AR (-2, 9) ¥ HAGTEY ¥
Find the point on the x-axis which is equidistant from (2, —5) and (—2,9).

Q2.3f¢ cos A = 8/15, sin A 3R sec A & AA AT HIfAT|
If cos A = 8/15, calculate sinA and sec A.

Q3.3f¢ tan (A + B) = V3 3R tan (A — B) = 1/V3;
0°<A+B<90°%A>B, df A 3R B & a1 a1d Hifav|
If tan (A + B) =V3 and tan (A — B) = 1/V3; 0°<A+B<90° A >B, find A and B.

Q4.7f¢ ATET=60 IR ARFHT=50 &1 A TgeTsh AT Do |

If mean=60 and median=50, then calculate mode.

Q5.3f¢ P(E) = 0.05 &, dl ‘E &l & urifiepdr &ar g2
If P(E) = 0.05, what is the probability of ‘not E’?)

Q6.3 P &I HAdA A PG fFah Fsar 3R 5o HaAer: 6cm3iR 8em B



Find the volume of the cone whose radius and height are 6 cm and 8 cm respectively.

Q7.fc@rsT & (Show that):
tan 48° tan 45° tan 42° = 1
Sec-B

Qs.ﬁg%Aasﬁéanﬁmaﬁrﬁv,aﬁABmﬁqawm%%wéﬁ(2,—3)
dar B & e (1, 4) B

Find the coordinates of a point A, where AB is the diameter of the

circle whose centre is (2, — 3) and B is (1, 4).

Q9. frg ffaw & fAg¥ A1, -1), B(2, 1) 3R C(4, 5) & ¥
Prove that the points A(1, -1), B(2, 1) and C(4, 5) are collinear.

Q10. Hf& & T fdg @, St HEAR & ure-fdg @ 30m H g W ¥, MR & Rrax
Colero e 30° &1 AR fir 3= 19 Hifow]
The angle of elevation of the top of a tower from a point on the
ground, which is 30 m away from the foot of the tower, is 30°. Find
the height of the tower.

Q1.afg A, B 3R C Y ABC & 3id:®ivr &, dr fg@rse fh:

If A, B and C are interior angles of a triangle ABC, then show that :
sin[(B+C)/2]=cos(A/2)

Q12. 8.6 cm ol Teh IWES WITAT 3N 34 3 : 5 3gurd # fawrfaia Hfow|

(Draw a line segment of length 8.6 ¢cm and divide it in the ratio 3 : 5)

Q13. 3 cm T & e ga Wifdw| 8% Rl 9o 0 <O W &g & 7 cm .
gl W Y g1 g P 3R Q <NfSw| g gt g3 & g W Tusl Y@
gifau|

Draw a circle of radius 3 cm. Take two points P and Q on one of its
extended diameter each at a distance of 7 cm from its centre. Draw
tangents to the circle from these two points P and Q.

Q14. TH U FH 90 BEF (discs) &, 57 W 1 & 90 T T&aw 3ifra &1 afe
3 U # O U BT I Qe Sy § O sgdh wiRkear g fifsw
fr zu fovd W 3ifha aef: (i) & 37l & T F&A1 (ii) Th qoul 99 &
(iii) 5 ¥ AT T FET|
A box contains 90 discs which are numbered from 1 to 90. If one
disc is drawn at random from the box, find the probability that it
bears : (i) a two-digit number (ii) a perfect square number
(iii) a number divisible by 5.
Sec- C

Q15. AR & INUR A IR Th WA W FH 4 m 3R 9 m A g W BT @
fiig3t @ MR & REX & seag= HIoT @b BT &1 &g f&p #far &
>d1$ 6 m T
The angles of elevation of the top of a tower from two points at a
distance of 4 m and 9 m from the base of the tower and in the same
straight line with it are complementary. Prove that the height of the
tower is 6 m.



Q16.7hEl & Th B Tolel & Ycdeh Y W Teh Il Wighy fASIeId §T, Teh aF]
qars S ¥, Sar fF amepfy F ot ¥ IR dee i Fard 10 em ¥ 3R
YR & BT 3.5 cm & @ 38 ag & TYUT GBI &T%dl A Do |
A wooden article was made by scooping out a hemisphere from each
end of a solid cylinder, as shown in the Fig. If the height of the cylinder is
10 cm, and its base is of radius 3.5 cm, find the total surface area of

the article.

Q17.T% 3H H, 3915 120 cm 3R AT 60 cm arelm TH QA
B arer T 31N WX IR §1 39 39 @ Uy

ﬁ%mﬁmmﬁmm%ﬁﬁﬁmaﬁraﬁraﬁ
351 60 cm & 3R A1 180 cm & o I A AW aﬁmﬁ’raﬁrmﬁm

ST

H‘fi—fﬂ'ﬁlﬁ% GﬁGOcm

CRINECEE]
aﬁluﬁaaaaﬁr

A solid consisting of a right circular cone of height 120 cm and radius 60 cm
standing on a hemisphere of radius 60 cm is placed upright in a right circular cylinder
full of water such that it touches the bottom. Find the volume of water left in the
cylinder, if the radius

of the cylinder is 60 cm and its height is 180 cm.

Q18. AT 3THaT T AT 62.8 &, dd I IRARAT x AT HIfoT

The mean of the following distribution is 62.8. Find the unknown frequency x :

T 3 0-20 | 20-40 | 40-60 | 60-80 | 80-100 100-120
(Class Interval)
IRERAT 5 8 X 12 7 8
(Frequency)
Q19. @ 31l &t s ad HifFA|

(Find the median of the following distribution.)
T AT 0-8 8-16 | 16-24 | 24-32 | 32-40 | 40-48
(Class Interval)
IRIRAT 8 10 16 24 15 7
(Frequency)




